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Simplify.
1, ‘”’f( = =) 2. (2%3) 3. (6x~%)(=2x7)
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Solve each function by making the bases the same.

423 =18 M;g ’_l= g4 "%, = x'ﬂq
= 3*9 +

Describe how to transform the graph of the basic function g(x) into the graph of the given function f(x).

6. g(x)=Inx; f(x)=In(—x)-7 V\’ 7. g(x)=2% f(x)=3-2%+3
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8. Determine the function that best describes the given graph. =
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b. y=In(x-5) =ln(x+5) 0
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9. Which of the following could represent the graph and its inverse 10. Which of the following gréphs have an inverse?
graphed on the same coordinate grid? Explain Why. 'Z.PO’tn-Hb
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Exeonwﬁqo funetons hasre hor zontal asywptoles.

Use the given function f to: So 3 —

(a) Find the domain of f and any asymptotes of f. (b) Write the transformations. (c) Graph f. (d) From the graph determine
the range.

Use transformations and a table of values for at least 3 key points to get the graphs. No graphing calculators|
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Leqarithmic Funchons have Ulriiced asywpioles -

S0 b=
(0‘{’)(13- J(x)=log ()+1 \?"—rrcns{brmw}bns
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15. f(x) = 2x =3 16. f(x) = X2 17. f(x) = VX ¥ 3
O y4=2x3 ® y= Y2 O y=\x+3_
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